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1><20*5+2(1—48)= 53+4(1+29)=
5 ' 5 ‘ 6 =
1 2 2 1
—+25)x2— == Z—4(=—44)=
(2 )% 3 3 (2 )
2 3 A A
ME-2)s2x4-5= 6(24—44)+2x4-3.1
3 2
1—4(5+56)= (36—3)x2—57:
2 . . 2 .

3 1
12(4.5+4.6)+4><3+§= 2,4x8+4+4(3.1+§):
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~x20+5+2(=—4.8)=(——)= (-8
5% (3-48)=(5)=(8)
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S +25)x2-Z=— =5
(3725 3 3
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545 +56)= (-—5) = (4l 75)
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124.5+4.6)+4x3+ 2= == =82
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5)72 4-5=¢ 3) (113)

9
10

A5
1 527 17
344(=+29)= 2L =17
33 (6 %) 30 730
2 1 244 4
S 4= —4d) =2 16—
3 (2 ) 15 615
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1
24-44)+2x4-31=(-"—)= (27—
624~ 44)+2x 431 = (-7 = (-2777)

3 3 1
(3.6 — 5) x2=57= (_E) = (—15)

1 278
DAx8+d+ 431+ )= 210 =
- 3.1+ 3)= 733
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